Pendentes de 1º ESO


Decimais. Porcentaxes.Ecuacións.
boletín III.1
Nome/Apelidos:___________/____________________

Nº:_____       Curso:_______    
1. Calcula:
a)0,5+0,6=
b)2,5+5,5
c)1,25-0,75
d)3-2,25
e)7,25-0,5
2. Calcula:

a)1-1,5
b)5,3-4,7
c)3,75-9
d)0,25-1,75
e)1-0,03


3. Calcula:
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4. Calcula:
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5. Aproxima ata as centésimas:

a)
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b)7382:64
c)62,23:48

6. Calcula o cociente exacto: 
a)8:0,25

b)10:0,16


7. Aproxima ata as centésimas:

 a)29,6:3,2
b)5,23:3,7
c)18,2:3,173 
8. Calclula:
a)29:10
b)34,2:10
c)2460:1000
d)27,2:1000 
9. Calclula:

a)2:0,1
b)0,3:0,1
c)25:0,01
d)4,5:0,01
e)0,008:0,01

f)0,003:0,001

[image: image13.wmf]
Solucións:


a)1,1   b)8    c)2   d)0,5   e)6,75


a)-0,5   b)0,6   c)-5,25   d)-1,50   e)0,97


a)2520   b)291,6   c)108,885   d)0,06   e)0,004


a)572   b)25,32   c)6300   d)2,5   e)4,802   f)0,0035


a)cociente:38,16;resto:0,08   b)C:115,34; R0,24   c)C:1,29;R:0,31


a)32   b)62,5 


a)9,25   b)1,41   c)5,74   


a)2,9   b)3,42   c)2,46  d)0,0272


a)20   b)3   c)2500   d)450   e)0,8   f)3
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